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BECC–108 : INTERMEDIATE MICRO- 

ECONOMICS—II 
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Note : Answer questions from each Section as per 

the given instructions. 

Section—A 

Note : Answer any two questions from this Section.  

Each question carries 20 marks. 2×20=40 

1. (a) What is deadweight loss in monopoly ? 

Explain with the help of a diagram. 8 

(b) A monopolist faces an inverse demand 

function P (Q) = 20 – Q and total cost 

function 4Q + Q2. Calculate the deadweight 

loss associated with this monopolist. 12 
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2. (a) How is long-run equilibrium under 

monopolistic competition different from 

that of monopoly ? 12  

(b) Explain how a monopolistically competitive 

firm maximises project in the short-run. 8  

3. In a Cournot duopoly model, firms 1 and 2 

produce output Q1 and Q2 respectively. Let 

market demand be P = 280 – Q (where  

Q = Q1 + Q2) and net total cost be 40Q. 

(a) Derive the reaction curves of firm 1 and 

firm 2.  8 

(b) Calculate the Cournot-Nash equilibrium 

quantity produced by each firm. 6 

(c) What is the equilibrium price and total 

profit of the industry ? 6  

4. (a) Define Public goods. How are they different 

from pure private goods ? 6 

(b) Explain Samuelson-Musgrave solution to 

optimal allocation of a public good. 14 
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Section—B 

Note : Answer any four questions from this 

Section. Each question carries 12 marks. 

4×12=48 

5. Define asymmetrical information. How does 

asymmetrical information lead to market 

failure ? What are the solutions to 

asymmetrical information ?  12 

6. A firm faces a demand curve P = 150 – Q and 

total cost : TC = 1000 + 0.5Q2. 

(a) Calculate the profit maximizing output and 

price in case the firm is a monopoly. 6 

(b) Calculate the profit maximising output and 

price in case of perfectly competitive firm. 6 

7. Explain the construction of Edgeworth box with 

the help of an example. How is general 

equilibrium attained in production ? Explain. 12  

8. What is social welfare function ? Explain 

various types of social welfare functions. 4+8 
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9. In monopolistic competition, a firm produces 5 

units of the output. The total cost (TC) function 

of the firm is given by : 

TC = 256 + 4q2 + 150 q 

where q is the output of the firm. 

(a) What is the efficient level of output of the 

firm ?  6 

(b) Do you think firm is producing at the 

efficient point ? Justify. 3 

(c) What do you mean by the term “Excess 

Capacity” ? Find the excess capacity. 3 

10. (a) Differentiate between simultaneous move 

and sequential move games. 3 

(b) The payoff matrix and strategies (I, A) of 

two payers 1 and 2 are given below :  

                                     Player 2  

  I A 

Player 1 
I 2, 1 0, 0 

A 0, 0 1, 2 

Write the game in extensive form and find 

Nash equilibrium of the game. 9 
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Section—C 

Note : Answer all questions from this Section. Each 

question carries 6 marks. 2×6=12 

11. Write short notes on any two of the following : 

2×3=6 

(a) Grand utility possibility curve  

(b) Natural monopoly 

(c) Value judgements 

12. Differentiate between any two of the following : 

2×3=6 

(a) Partial equilibrium and General 

equilibrium 

(b) Perfect competition and Monopoly Market 

form 

(c) Signalling and Screening 
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P 150 Q 

2TC = 1000 + 0.5Q

6 
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TC = 256 + 4q2 = 150q 
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 I, A

   

  I A 

 
I 2, 1 0, 0 

A 0, 0 1, 2 

&

2×6=12

2×3=6

2×3=6
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